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Fl:ﬂ]_ X:R2‘Oi Dﬁ@@t%, a,bEXLZﬁL'Ca: (&1,&2), b= (bl,bg) ngg,
di(a,b) := |a; — bi| + |as — byl

YERT D (voNy R UMM L EEEE). o = (4,0), b= (4,3), c = (2,2) D& & dy(a,b)
D% D 212, di(b,c), di(a,c) BFNTIRD XK.

dy(a,b) =4 — 4] + 10— 3| =3

di(bc)=l4—2|+]3-2/=2+1=3
di(a,c)=14-2[+0-2[=2+2=4

2 X = { &thl, 5080, KL M } & 975, Zh 2N JRDERZERT L L, ZDMDEEIX
Mro@Eh &35,

A\B | & | 5UR | KE | TEHE
0 | 410 | 580 | 660
HES | 410 | 0 | 200 | 320
K#EE| 580 | 200 | 0 | 200
#EE | 660 | 320 | 200 | O

A Be XITHULTIA, B) % FRRDEE T5. fIZIXAZEH, BZREE T2

d(=iH, 5CER) = 410
TH 5. dRE, KE), dORE, W), dEH, KE) z2hz2hkd K.
d(RE, KEE) =0
d(R#E, ) = 200
d(MEH, KEE) = 200
F BIERMATIHEALROES X 1T X - T, BREORE d 263 LD X DIl

2O TRV, FIZIE X SRR ANTLE S &, KIR-EEBZ 960 F7225, K-
#RR 580 M, HLER-MEHRE 320 o % b

d(KFR, ) = 960,

d(KBR, 5#8) = 580, d(&HLER, #EH) = 320,
i)

d(RBR, ) = 960 > 900 = 580 + 320 = d( KPR, FH&R) + d( &AL, HEH)

T 28581, MERNEZSZ L THS TERAZ L TBEL . #H L2 THHRET 60 AU RN EKTT.




Dk 512 SRR B S0 (BESEDD bRV EE TR RE L7 0%
WSRBAE S 5TV B),

B3X=R2D&ZE aqbec XML Ta=(a,as), b= (b,by) & BZ,
doo(a,b) := max{|a; — b1|, |az — bo|}

YEFETS (Fr s x 7HEE LB, a = (4,0), b= (4,3), c = (2,2) D & = d(a,b)
DEI% B LIZ, do(b, ), dola, ¢) B ZRZRRD X

dwo(a,b) = max{|4 —4/,|0 — 3]} =3

doo (b, ¢) = max{[4 — 2|, 3 — 2|} = 2
doo(a, ¢) = max{|4 —2[,]0 — 2|} = 2
BIEX=RDOL %,
d(z,y) == |z —y|

R EOEEETH 2. FEE, HEEOER (D1) 205 (D3) 23 2 2RI XV, 2,y €
X=Rt7J53.
d(z,y) =|r—y[=0

F72,d(x,y) = 0861, |v—y|=087%D, o=y Wz =yRbIX d(z,y) = |[r—y| = 0.
X - T (D1) 23KA7.

R, z,ye X &35, dx,y)=|r—yl=|ly—z|=d(y,z) XD (D2) KIL.
RFZRIZ, r,y,2€e X=R&$3. ZAFLERVLD

d(z,z) = |z — 2|
=lz—y+y—2|
<lz—yl+1y—=|
= d(z,y) + d(y, z)
XoT(D3) b7 DD, dIZR FOBBTH 3.
Bl FEHEZITIC X =R2DE X, a,be X I L Ta=(a1,a2), b= (b,by) L BE,
di(a,b) := |a; — by| + |ag — by

CEFET D (voy X UHERE L IERE). d 3R OHERETH 5 2 L 2Rt

D=AFERIRD X5 ICHATE 3.

(Il + ly)? = & + y[* = &® + 2|z[|y| + y* — (&® + 22y + y°)
=2lzy| — 22y
>0

ED fz+yl <z + |-



BEG x=(r1,72),y= (y1,72) € X =R* T 3.
di(z,y) = |1 —yi| + |z2 — 42| > 0

F72,di(z,y) =00, |o1 — 1| + |12 — 1| =08RD |z — 11| = 05D |19 — 1| =0
TH2. EoTo =y DDy =1y THE2DTuao =y Hlax=yRolX d(r,y) =
|21 — 1| + |22 — ya| = 0. & o T (D1) 2IAKAL.
R, dy(x,y) = vy —yi| + |22 — 2| = |y1 — 21| + [y — 22| = di(y,2) & D (D2) KL
RIRIT,
di(x,z) = |r1 — 21| + |x2 — 22|
=|z1 =y +y1 — 2] + T2 — Y2 + Y2 — 22
<z — il + y1 — 21] + |22 — ya| + Y2 — 22
= di(z,y) + di(y, 2)

EoT(D3) bR 2F D, d ER? LOFEETH 5.



